Extract 5. (CH_Scouts 06.05.13)
1

(2.8)£(3.5)
tim >>stirs p2-->
mar fgazes at pots-->

2 TIM es konne glaub alli no e schluck milch vertrageiff
they all could need a little more milk

tim ->+
mar ->£
3 (0.8)£(0.2)
tim ttaps spatula-->
4 MAR (jo lagg)
(oh gosh)
5 (1.6)

6 RON hesch no gnue?:*
you’ve got enough
tim ->*
7 MAR nai i bruuch no eini
no 1 need one more

8 (2.2)

9 EVA °merci®
°thanks®

10 (1.1)

11 TIM ah (.) dangge
oh (.) thanks

12 (1.6)Q+(0.9)Q¥(1.1)¥Q(0.6)
eva Qpours in plQ Qpours in p3-->
tim tgazes at pots—-->>
mar ¥pours in p2¥
13 TIM jo (.) [fnid z’vQiel]
yeah not too much
tim t...>
eva -—>Q
14 MAR [¥da kaschY no]mol Qe biz
you can (do) this one again
mar ¥points at p2¥
eva Q...—>

15 TIM nid tz’viel Qwill siischt chielts 1z’ feschtQ ab
not too much because otherwise it cools down too quickly
eva ..~>Qpours in p2-----—----—--—--—--—- Q
tim ->fspatula in p2----—-——————-—-- tstirs p2-->>



